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N & 0 & 2 E M A
20169 = S0la LA S8EH
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A MHIA
Fo=xs o HE)
= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
s5H 309,268 318,885 29,617
HE MU A 132,968 146,605 A 13,637
FUSXSHH 93,540 107,836 A 14,296
SCIBEES 61,540 61,540 0
ALtE A S 61,540 61,540 0
ST -0 -¥Es2ds 61,540 61,540 0
mol &g 59,040
oJles4Y 200,000& 18K «x12& 43,200
oOd0= 200,000& x18H #23| 7,200
O3g&FA+H 20,0003 «18H «23|«12& 8,640
mErE =& 50,000& *x50H 2,500
AR A4sus 2,000 2,000 0
ALE A S 2,000 2,000 0
HALAHI B A3 2,000 2,000 0
WSS NHZH(EYE LIFA S )AL
= 40,000 »25H »22 2,000
HHSSoHHSH 30,000 30,000 0
2Bt Al 30,000 30,000 0
A2 I 30,000 30,000 0
WHM SSHHESH 30,000,000& 30,000
=2 39,428 38,769 659
] 39,428 38,769 659
jellrals] 27,088 25,267 1,821
JIZtHZ22UHsSE+ 27,088 25,267 1,821
mESZHEAME (XD =H ) 8,505
(Ol -1 48,2403 2 x 102 *6 3 5,789
ORrRssgs+¥ 48,2403 +2H x2L +63] 1,158
O¢NREmH=rEY 48,2403 «2H x6 Y 579
o4 8= 7,526,000 x13% 979
wmZ2LXH, T2 EHII S 18,583
(ORIl 48,2402 10 102 *33| 14,472
ORrRsSsgsY 48,2403 10«22 +33] 2,895
oL -MUMEES 17,367,000 *7% 1,216
2 Et2 HH| 5,000 5,000 0
AtS 22l 5,000 5,000 0
LIR = 5,000
OMd & &HMLE =& FH Xt 5,000
O=3J £ €= 500,000& = 10CH 5,000
M= dl 7,340 8,502 21,162




2N S0
Y HAEMHIA
el e A (el:de)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 & bl 7,340 8,502 N 1,162
msig daA=s) U 2,115
oL R 1,500& *304 *5& 225
Rk 1,260& %3004 *5& 1,890
mEECA Y S 2RI 3,650
O X, €Hl, HE S
35,000 *3E *15E 23| 3,150
OA~2 3J|7 ¥ HISHl 10,000& *5Z =104 500
mEZH ZHD] 1,575
OWFI K& 1,500& *3504 *33] 1,575
oS A H I 60,000 60,000 0
AR FO=JAAY 60,000 60,000 0
AL FOIMESHOI ALY 60,000 60,000 0
401 Al B 20 HI 60,000 60,000 0
01 Al& H| 60,000 60,000 0
mARD FOIMEHI ALY 60,000
O0tsotd & S0t 212 2422 AF
15,000,000 15,000
OMMRAEX 213 E+=3A 15,000, 000& 15,000
OZZOMAIEZE S 2138 B3 A
15,000, 000& 15,000
oxzH ZIAXH Y = HHIAMY
15,000, 000& 15,000
HH2AAY (SR) 116,300 112,280 4,020
Jl2 &l 116,300 112,280 4,020
Jl2EHl 116,300 112,280 4,020
201 et A | 56,620 60,600 A 3,980
01 AR 22l ] 24,840 23,660 1,180
(m B2 H| 13,560
OJlE MREEEHI 5,000 *x128 x12& 720
oOFNMEBY =8l 70,000& x12H x12& 10,080
O=2AD|, dADID| A2E 100,000& ~12& 1,200
OROUMANAHH 24 130,000& ~12& 1,560
D=l 7,000& x 128 x10L x12& 10,080
mEgs+Y 1,200
OMEZ R 24 5,0008 20 x12& 1,200
02 3244l 31,780 36,940 A5,160
m=222 2 MA 17,580
oRE= &= 500,000& «12& 6,000
(OFSPIETE=: 800,000& »12& 9,600
o4 -olx=ER2=2 70,000& x12& 840




SN SR
U HE2AAY (SRH)
chelr D123l
SA BB O () - NRAY - HES il
QJIEt 2223 £ HMA 95,000& x12& 1,140
mAZ Y| (e 200,000& x5 1,000
WAl & & Hl = X bl 4,800
OB ANAEES A2l 400,000& x12& 4,800
(] X} 2 8HY] (200 ) 8,400
oxzE=FUH 250,000 x2CH 123 6,000
OX&FHIRAH L AZ2FH|
100,000 »2CH = 12& 2,400
202 odl 36,000 36,000 0
01 = LH YI 36,000 36,000 0
w = LH 4 HI 36,000
olfgs JRFAN 250,000& x12H »12& 36,000
203 R =&Yl 10,080 10,080 0
01 I 22L =4 6,600 6,600 0
(WOl 30HO| Bt 6,600,000 6,600
02 ZRIaHRE=XH| 480 480 0
mEAAMIZH BH (R :12E) 480
© 100E Mt K| 40,0003 x12H 480
04 EAN2IHR2F=EHI 3,000 3,000 0
mEA2Y RFALH(FH:12Y) 3,000
©521 =1t 15210l at 250,000& x12& 3,000
204 MR AH| 3,000 3,000 0
01 MBS HPH A 1,800 1,800 0
mHE (52 JI2F) 150,000 x1H x12& 1,800
03 EZ YA 1,200 1,200 0
wAMSREE 100,000& x1H «12& 1,200
405 TtHabH S| 10,600 2,600 8,000
01 AL EFH S 10,600 2,600 8,000
(w] & XpTA D 300, 0002 = 1CH 300
w22 = AD| 10,000, 0002 = 1CH 10,000
MmN (2 SHE) 300, 0002 = 1CH 300




